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107.01.29 8.1 17.1 1.3 7.6 17.4 <1.0
107.02.08 8.0 12.8 <1.0 8.8 17.7 <1.0
107.03.01 8.2 27.2 <1.0 5.8 <1.0 <1.0
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3 0 N.D AR A A RER IR 5 AR A AR B R AKRE M S 7 F R ARERE » W"<"RELRMREAET



B~ EOKE

A E BT ENA 107 £3 5 18 AEMIH AT EERITHE6 B
BRIEZTEuBHE 3% HEEB645BODs~BE ~SSjhfs 48 B a8
DO-~pH- Xk - BERSAE  BAMEwE 20 BRALERFL 6 KAFEARHY
BAOLBEBRAKBEAKEREE -

B 20 AKitEABRKE BERIHEE



%6 HBEKEFEARREL
et | .on |, . o] - p _ i 4
Km [ pH (B | o | S e m e | 20 e | mn | wen | as (gus | ees| T | % | & | M
Eake | Eaam EE|FRE w8 ~a
C — |PSU|mg/L| mg/L |mg/L | NTU | mg/L |mg/L {mg/L |mg/L| mg/L | mg/L | mg/lL | mg/L | pg/L mg/L mg/L mg/L
HEoKE 1 1107.03.01(218 |82 (34192 | 14 59 | 6.3 | 015 | 0.06 |0.12|1.03| 0.044 | 0.051 | 056 | <1.0 | 1.75 | 0.0080 | N.D. | 0.0010
ok <0.0050 <0.0010
HEoKE 2 1107.03.011221|82(343|6.0| 1.6 58 | 29 | 019 | 0.04 |0.21 |0.68| 0.044 | 0.072 | 060 | <1.0 | 140 (0.0028) N.D. (0.0006)
FH e b e <0.0050 <0.0010
i Ao KE 3 1107.03.011220|82 (342(114| 1.7 | 6.0 | 36 | 013 | 0.05]|0.09|0.71| 0.061 | 0.047 | 0.59 | <1.0 | 1.68 (0.0030) N.D. (0.0005)
ﬁ: o KE 4 1107.03.011221182(340(94 | 1.7 | 60| 92 | 012 | 0.05]|0.15|0.71| 0.037 | 0.054 | 0.61 <1.0 | 0.76 | 0.0068 | N.D. | 0.0010
ok <0.0050 <0.0010
3B oKE 5 |107.03.01(218 |82 (34165 | 1.2 59 | 46 | 0.16 | 0.06 | 0.17 | 0.67 | 0.055 | 0.051 | 059 | <1.0 | 140 (0.0016) N.D. (0.0004)
ok <0.0050 <0.0010
o KE 6 |107.03.011219 |82 (34048 | 14 59 | 40 | 014 | 0.06 |0.17 | 0.68| 0.044 | 0.080 | 058 | <1.0 | 1.34 (0.0024) N.D. (0.0005)
A <0.0050
- B#ME1 |107.03.01|21.3|8.1|33.9| 85 1.8 58 |40.0| 0.16 | 0.04 |0.26 | 0.85| 0.059 | 0.113 | 063 | <1.0 | 0.88 (0.0028) N.D. | 0.0010
& <0.0010
o g#E2 |107.03.01)21.5]8.2|33.8|114| 22 58 | 34.0| 0.18 | 0.03|0.20 |0.77| 0.067 | 0.857 | 059 | <1.0 | 1.08 N.D. N.D. (© '0004)
b | R <0.0010
_| #®#HEE3 |107.03.01|216|8.1 339|795 2.8 57 | 10.0| 0.20 | 0.04 |0.23 (1.32| 0.052 | 0.078 | 055 | <1.0 | 240 | 0.0057 | N.D. (0.0008)
MDL {& - | = —-—1]110| 10 — | 0.05| 0.01 {0.002|0.020| 0.14 | 0.002 | 0.002 | 0.024 | 1.0 0.03 | 0.0015 |0.0004| 0.0004
LB ARAKTRE - 7é55- — | — | <3.0 |>5.0]| — - — — — — — - — — 0.50 0.01 0.03
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B A3 8 k+ A

pH 8.6 8.3 — —
5 (mg/kg) 6.44 6.40 0.112 30
% (mg/kg) N.D. N.D. 0.033 10
43(mg/kg) <0.33(0.09) N.D. 0.07 10
4% (mg/kg) 15.3 15.4 1.87 175
47 (mg/kg) <6.67(3.87) <6.67(3.99) 1.92 220
44 (mg/kg) 14.6 14.7 0.79 130
£4(mg/kg) 7.90 7.96 1.01 1,000
42(mg/kg) 49.2 52.2 1.97 1,000
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